

2017-014	BIDDER AND LOCATION																										
	International Promotional Elk Grove, IL 60007	Cintas #393 Hughesville, MD 20637	Mastermans LLP Auburn, MA 01501	Feury Image Group Newark, NJ 07105	A&A Sales Associates LLC Quakertown, PA 18951	Printer's Ink LLC Springfield, MO 65802	Chesapeake Uniform Rental Baltimore, MD 21224	Henderson Advertising Springfield, IL 62703	Uniforms Manufacturing Inc. Scottsdale, AZ 85260																		

**A. WORK SHIRTS**

**A-1. Men's Polo Shirts**

Blue Generation, BG7206, Short Sleeve, Light Blue

Item#	Size	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total			
A-1-1	Small - Large	\$10.46	10	\$104.60	\$20.49	10	\$204.90	No Bid	10	No Bid	\$12.65	10	\$126.50	\$15.25	10	\$152.50	\$11.38	10	\$113.80	\$13.75	10	\$137.50	\$15.22	10	\$152.20	\$14.60	10	\$146.00
A-1-2	1X-Large	\$10.46	20	\$209.20	\$20.49	20	\$409.80	No Bid	20	No Bid	\$12.65	20	\$253.00	\$15.25	20	\$305.00	\$11.38	20	\$227.60	\$13.75	20	\$275.00	\$15.22	20	\$304.40	\$14.60	20	\$292.00
A-1-3	2X-Large	\$11.54	30	\$346.20	\$25.49	30	\$764.70	No Bid	30	No Bid	\$13.99	30	\$419.70	\$15.25	30	\$457.50	\$12.52	30	\$375.60	\$14.25	30	\$427.50	\$18.22	30	\$546.60	\$16.08	30	\$482.40
A-1-4	3X-Large	\$13.74	10	\$137.40	\$25.49	10	\$254.90	No Bid	10	No Bid	\$16.65	10	\$166.50	\$15.25	10	\$152.50	\$14.81	10	\$148.10	\$16.25	10	\$162.50	\$19.22	10	\$192.20	\$18.88	10	\$188.80
<b>Subtotal A-1</b>				<b>\$797.40</b>	<b>Subtotal A-1</b>		<b>\$1,634.30</b>	<b>Subtotal A-1</b>		<b>\$0.00</b>	<b>Subtotal A-1</b>		<b>\$965.70</b>	<b>Subtotal A-1</b>		<b>\$1,067.50</b>	<b>Subtotal A-1</b>		<b>\$865.10</b>	<b>Subtotal A-1</b>		<b>\$1,002.50</b>	<b>Subtotal A-1</b>		<b>\$1,195.40</b>	<b>Subtotal A-1</b>		<b>\$1,109.20</b>

**A-2. Ladies' Polo Shirts**

Blue Generation, BG6209, Short Sleeve, Light Blue

Item#	Size	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total			
A-2-1	Small - Large	\$9.98	15	\$149.70	\$19.49	15	\$292.35	No Bid	15	No Bid	\$11.93	15	\$178.95	\$14.55	15	\$218.25	\$10.77	15	\$161.55	\$10.85	15	\$162.75	\$10.22	15	\$153.30	\$13.93	15	\$208.95
<b>Subtotal A-2</b>				<b>\$149.70</b>	<b>Subtotal A-2</b>		<b>\$292.35</b>	<b>Subtotal A-2</b>		<b>\$0.00</b>	<b>Subtotal A-2</b>		<b>\$178.95</b>	<b>Subtotal A-2</b>		<b>\$218.25</b>	<b>Subtotal A-2</b>		<b>\$161.55</b>	<b>Subtotal A-2</b>		<b>\$162.75</b>	<b>Subtotal A-2</b>		<b>\$153.30</b>	<b>Subtotal A-2</b>		<b>\$208.95</b>

**A-3. Men's Polo Shirts**

Blue Generation, BG7208, Long Sleeve, Light Blue

Item#	Size	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total			
A-3-1	Small - Large	\$14.19	15	\$212.85	\$26.49	15	\$397.35	No Bid	15	No Bid	\$17.20	15	\$258.00	\$19.95	15	\$299.25	\$15.28	15	\$229.20	\$16.95	15	\$254.25	\$20.22	15	\$303.30	\$19.46	15	\$291.90
A-3-2	1X-Large	\$14.19	25	\$354.75	\$26.49	25	\$662.25	No Bid	25	No Bid	\$17.20	25	\$430.00	\$19.95	25	\$498.75	\$15.28	25	\$382.00	\$16.95	25	\$423.75	\$20.22	25	\$505.50	\$19.46	25	\$486.50
A-3-3	2X-Large	\$15.33	20	\$306.60	\$31.49	20	\$629.80	No Bid	20	No Bid	\$18.53	20	\$370.60	\$19.95	20	\$399.00	\$16.42	20	\$328.40	\$17.95	20	\$359.00	\$21.22	20	\$424.40	\$20.86	20	\$417.20
A-3-4	3X-Large	\$17.49	10	\$174.90	\$31.49	10	\$314.90	No Bid	10	No Bid	\$21.20	10	\$212.00	\$19.95	10	\$199.50	\$18.71	10	\$187.10	\$19.95	10	\$199.50	\$23.22	10	\$232.20	\$23.66	10	\$236.60
<b>Subtotal A-3</b>				<b>\$1,049.10</b>	<b>Subtotal A-3</b>		<b>\$2,004.30</b>	<b>Subtotal A-3</b>		<b>\$0.00</b>	<b>Subtotal A-3</b>		<b>\$1,270.60</b>	<b>Subtotal A-3</b>		<b>\$1,396.50</b>	<b>Subtotal A-3</b>		<b>\$1,126.70</b>	<b>Subtotal A-3</b>		<b>\$1,236.50</b>	<b>Subtotal A-3</b>		<b>\$1,465.40</b>	<b>Subtotal A-3</b>		<b>\$1,432.20</b>

**A-4. Ladies' Polo Shirts**

Blue Generation, BG6207, Long Sleeve, Light Blue

Item#	Size	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total			
A-4-1	Small - Large	\$12.97	15	\$194.55	\$24.49	15	\$367.35	No Bid	15	No Bid	\$15.67	15	\$235.05	\$18.75	15	\$281.25	\$13.97	15	\$209.55	\$12.35	15	\$185.25	\$12.22	15	\$183.30	\$17.85	15	\$267.75
<b>Subtotal A-4</b>				<b>\$194.55</b>	<b>Subtotal A-4</b>		<b>\$367.35</b>	<b>Subtotal A-4</b>		<b>\$0.00</b>	<b>Subtotal A-4</b>		<b>\$235.05</b>	<b>Subtotal A-4</b>		<b>\$281.25</b>	<b>Subtotal A-4</b>		<b>\$209.55</b>	<b>Subtotal A-4</b>		<b>\$185.25</b>	<b>Subtotal A-4</b>		<b>\$183.30</b>	<b>Subtotal A-4</b>		<b>\$267.75</b>

**A-5. Men's Button Down Collar Shirts**

Blue Generation, BG7216S, Short Sleeve, Light Blue

Item#	Size	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total			
A-5-1	Large	\$12.14	20	\$242.80	\$23.49	20	\$469.80	No Bid	20	No Bid	\$14.65	20	\$293.00	\$17.74	20	\$354.80	\$13.10	20	\$262.00	\$14.95	20	\$299.00	\$17.62	20	\$352.40	\$16.66	20	\$333.20
A-5-2	1X-Large	\$12.14	20	\$242.80	\$23.49	20	\$469.80	No Bid	20	No Bid	\$14.65	20	\$293.00	\$17.74	20	\$354.80	\$13.10	20	\$262.00	\$14.95	20	\$299.00	\$17.62	20	\$352.40	\$16.66	20	\$333.20
A-5-3	2X-Large	\$13.19	10	\$131.90	\$28.49	10	\$284.90	No Bid	10	No Bid	\$15.99	10	\$159.90	\$17.74	10	\$177.40	\$14.24	10	\$142.40	\$16.35	10	\$163.50	\$18.62	10	\$186.20	\$18.18	10	\$181.80
<b>Subtotal A-5</b>				<b>\$617.50</b>	<b>Subtotal A-5</b>		<b>\$1,224.50</b>	<b>Subtotal A-5</b>		<b>\$0.00</b>	<b>Subtotal A-5</b>		<b>\$745.90</b>	<b>Subtotal A-5</b>		<b>\$887.00</b>	<b>Subtotal A-5</b>		<b>\$666.40</b>	<b>Subtotal A-5</b>		<b>\$761.50</b>	<b>Subtotal A-5</b>		<b>\$891.00</b>	<b>Subtotal A-5</b>		<b>\$848.20</b>

**A-6. Men's Button Down Collar Shirts**

Blue Generation, BG7216, Long Sleeve, Light Blue

Item#	Size	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total			
A-6-1	Large	\$12.14	20	\$242.80	\$23.49	20	\$469.80	No Bid	20	No Bid	\$14.65	20	\$293.00	\$17.74	20	\$354.80	\$13.10	20	\$262.00	\$14.95	20	\$299.00	\$17.62	20	\$352.40	\$16.78	20	\$335.60
A-6-2	1X-Large	\$12.14	20	\$242.80	\$23.49	20	\$469.80	No Bid	20	No Bid	\$14.65	20	\$293.00	\$17.74	20	\$354.80	\$13.10	20	\$262.00	\$14.95	20	\$299.00	\$17.62	20	\$352.40	\$16.78	20	\$335.60
A-6-3	2X-Large	\$13.19	20	\$263.80	\$28.49	20	\$569.80	No Bid	20	No Bid	\$15.99	20	\$319.80	\$17.74	20	\$354.80	\$14.24	20	\$284.80	\$16.35	20	\$327.00	\$18.62	20	\$372.40	\$18.18	20	\$363.60
<b>Subtotal A-6</b>				<b>\$749.40</b>	<b>Subtotal A-6</b>		<b>\$1,509.40</b>	<b>Subtotal A-6</b>		<b>\$0.00</b>	<b>Subtotal A-6</b>		<b>\$905.80</b>	<b>Subtotal A-6</b>		<b>\$1,064.40</b>	<b>Subtotal A-6</b>		<b>\$808.80</b>	<b>Subtotal A-6</b>		<b>\$925.00</b>	<b>Subtotal A-6</b>		<b>\$1,077.20</b>	<b>Subtotal A-6</b>		<b>\$1,034.80</b>

2017-014	BIDDER AND LOCATION																							
	International Promotional Elk Grove, IL 60007	Cintas #393 Hughesville, MD 20637	Mastermans LLP Auburn, MA 01501	Feury Image Group Newark, NJ 07105	A&A Sales Associates LLC Quakertown, PA 18951	Printer's Ink LLC Springfield, MO 65802	Chesapeake Uniform Rental Baltimore, MD 21224	Henderson Advertising Springfield, IL 62703	Uniforms Manufacturing Inc. Scottsdale, AZ 85260															

**A. WORK SHIRTS ( continued)**

**A-7. Men's Button Pocket T-Shirts**  
Fruit of the Loom, 5930P, Short Sleeve, Light Blue

Item#	Size	Substitute Product Offered																										
		Unit Price	Est Qty.	Total																								
A-7-1	Medium	\$4.73	5	\$23.65	\$9.00	5	\$45.00	\$5.07	5	\$25.35	\$6.32	5	\$31.60	\$5.95	5	\$29.75	\$4.60	5	\$23.00	\$6.95	5	\$34.75	\$6.55	5	\$32.75	\$7.30	5	\$36.50
A-7-2	Large	\$4.73	30	\$141.90	\$9.00	30	\$270.00	\$5.07	30	\$152.10	\$6.32	30	\$189.60	\$5.95	30	\$178.50	\$4.60	30	\$138.00	\$6.95	30	\$208.50	\$6.55	30	\$196.50	\$7.30	30	\$219.00
A-7-3	1X-Large	\$4.73	80	\$378.40	\$9.00	80	\$720.00	\$5.07	80	\$405.60	\$6.32	80	\$505.60	\$5.95	80	\$476.00	\$4.60	80	\$368.00	\$6.95	80	\$556.00	\$6.55	80	\$524.00	\$7.30	80	\$584.00
A-7-4	2X-Large	\$6.54	60	\$392.40	\$11.00	60	\$660.00	\$7.01	60	\$420.60	\$9.24	60	\$554.40	\$7.24	60	\$434.40	\$6.54	60	\$392.40	\$8.50	60	\$510.00	\$8.65	60	\$519.00	\$9.57	60	\$574.20
A-7-5	3X-Large	\$6.71	20	\$134.20	\$11.00	20	\$220.00	\$7.19	20	\$143.80	\$10.45	20	\$209.00	\$7.50	20	\$150.00	\$7.97	20	\$159.40	\$8.50	20	\$170.00	\$9.65	20	\$193.00	\$9.78	20	\$195.60
<b>Subtotal A-7</b>		<b>\$1,070.55</b>			<b>\$1,915.00</b>			<b>\$1,147.45</b>			<b>\$1,490.20</b>			<b>\$1,268.65</b>			<b>\$1,080.80</b>			<b>\$1,479.25</b>			<b>\$1,465.25</b>			<b>\$1,609.30</b>		

**A-8. Men's Work Shirts**  
Red Kap, SC30LB, Long Sleeve, Light Blue

Item#	Size	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total																					
<b>Regular Back Length</b>																												
A-8-1	Large	\$19.46	20	\$389.20	\$21.49	20	\$429.80	\$16.92	20	\$338.40	\$16.91	20	\$338.20	\$17.50	20	\$350.00	\$16.65	20	\$333.00	\$13.95	20	\$279.00	Substitute Product Offered			\$15.10	20	\$302.00
																						\$16.49	20	\$329.80				
A-8-2	1X-Large	\$19.46	20	\$389.20	\$21.49	20	\$429.80	\$16.92	20	\$338.40	\$16.91	20	\$338.20	\$17.50	20	\$350.00	\$16.65	20	\$333.00	\$13.95	20	\$279.00	\$16.49	20	\$329.80	\$15.10	20	\$302.00
A-8-3	2X-Large	\$23.24	10	\$232.40	\$25.49	10	\$254.90	\$20.31	10	\$203.10	\$20.08	10	\$200.80	\$18.95	10	\$189.50	\$19.89	10	\$198.90	\$16.35	10	\$163.50	\$18.49	10	\$184.90	\$18.12	10	\$181.20
<b>Long Back Length</b>																												
A-8-4	1X-Large	\$21.76	10	\$217.60	\$21.49	10	\$214.90	\$16.92	10	\$169.20	\$16.91	10	\$169.10	\$18.95	10	\$189.50	\$16.65	10	\$166.50	\$13.95	10	\$139.50	\$17.49	10	\$174.90	\$15.10	10	\$151.00
A-8-5	2X-Large	\$25.79	10	\$257.90	\$25.49	10	\$254.90	\$20.31	10	\$203.10	\$20.08	10	\$200.80	\$18.95	10	\$189.50	\$19.89	10	\$198.90	\$16.35	10	\$163.50	\$19.49	10	\$194.90	\$18.12	10	\$181.20
<b>Subtotal A-8</b>		<b>\$1,486.30</b>			<b>\$1,584.30</b>			<b>\$1,252.20</b>			<b>\$1,247.10</b>			<b>\$1,268.50</b>			<b>\$1,230.30</b>			<b>\$1,024.50</b>			<b>\$1,214.30</b>			<b>\$1,117.40</b>		

**A-9. Reflective T-Shirts**  
Forester, 009051, Short Sleeve, Safety Green

Item#	Size	Substitute Product Offered			Substitute Product Offered			Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Substitute Product Offered			Substitute Product Offered			Unit Price	Est Qty.	Total	Substitute Product Offered					
		Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total							Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total				Unit Price	Est Qty.	Total			
A-9-1	Small - 5X-Large	\$12.64	60	\$758.40	\$23.49	60	\$1,409.40	\$7.88	60	\$472.80	\$12.93	60	\$775.80	\$9.15	60	\$549.00	\$10.59	60	\$635.40	\$11.85	60	\$711.00	\$14.00	60	\$840.00	\$12.35	60	\$741.00
<b>Subtotal A-9</b>		<b>\$758.40</b>			<b>\$1,409.40</b>			<b>\$472.80</b>			<b>\$775.80</b>			<b>\$549.00</b>			<b>\$635.40</b>			<b>\$711.00</b>			<b>\$840.00</b>			<b>\$741.00</b>		

**A-10. Reflective T-Shirts**  
Forester, 009051LONG, Long Sleeve, Safety Green

Item#	Size	Substitute Product Offered			Substitute Product Offered			Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Substitute Product Offered			Substitute Product Offered			Unit Price	Est Qty.	Total	Substitute Product Offered					
		Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total							Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total				Unit Price	Est Qty.	Total			
A-10-1	Small - 5X-Large	\$15.49	60	\$929.40	\$28.49	60	\$1,709.40	\$11.75	60	\$705.00	\$13.88	60	\$832.80	\$9.50	60	\$570.00	\$14.71	60	\$882.60	\$15.65	60	\$939.00	\$16.00	60	\$960.00	\$13.65	60	\$819.00
<b>Subtotal A-10</b>		<b>\$929.40</b>			<b>\$1,709.40</b>			<b>\$705.00</b>			<b>\$832.80</b>			<b>\$570.00</b>			<b>\$882.60</b>			<b>\$939.00</b>			<b>\$960.00</b>			<b>\$819.00</b>		

**B. WORK PANTS**

**B-1. Men's Work Pants**  
Dickies, 85283, Dark Blue

Item#	Size	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total															
B-1-1	28, 30, 31, 32, 33, 34, 36, 38, 40, 42, 44, 46, 48, 50, 52, 54, 56, 58 Inseam: 30, 32, 34, 36	\$19.74	25	\$493.50	\$24.99	25	\$624.75	\$20.10	25	\$502.50	\$21.57	25	\$539.25	\$21.25	25	\$531.25	No Bid	25	\$0.00	\$22.50	25	\$562.50	No Bid	25	\$0.00	\$21.26	25	\$531.50
B-1-2	48, 50, 52, 54, 56, 58 Inseam: 30, 32, 34, 36	\$22.74	10	\$227.40	\$30.99	10	\$309.90	\$22.02	10	\$220.20	\$23.73	10	\$237.30	\$24.65	10	\$246.50	No Bid	10	\$0.00	\$23.50	10	\$235.00	No Bid	10	\$0.00	\$22.03	10	\$220.30

2017-014	BIDDER AND LOCATION																							
	International Promotional Elk Grove, IL 60007	Cintas #393 Hughesville, MD 20637	Mastermans LLP Auburn, MA 01501	Feury Image Group Newark, NJ 07105	A&A Sales Associates LLC Quakertown, PA 18951	Printer's Ink LLC Springfield, MO 65802	Chesapeake Uniform Rental Baltimore, MD 21224	Henderson Advertising Springfield, IL 62703	Uniforms Manufacturing Inc. Scottsdale, AZ 85260															

**B. WORK PANTS (continued)**

**B-2. Ladies' Work Pants**

Dickies, FP774, Dark Blue

Item#	Size	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total			
B-2-1	2, 4, 6, 8, 10, 12, 14, 16, 18, 20, 22, 24 Length: Petite, Regular, Tall	\$18.45	10	\$184.50	\$24.99	10	\$249.90	\$18.06	10	\$180.60	\$19.40	10	\$194.00	\$18.95	10	\$189.50	No Bid	10	\$0.00	\$14.50	10	\$145.00	No Bid	10	\$0.00	\$19.82	10	\$198.20
<b>Subtotal B-2</b>				<b>\$184.50</b>	<b>Subtotal B-2</b>		<b>\$249.90</b>	<b>Subtotal B-2</b>		<b>\$180.60</b>	<b>Subtotal B-2</b>		<b>\$194.00</b>	<b>Subtotal B-2</b>		<b>\$189.50</b>	<b>Subtotal B-2</b>		<b>\$0.00</b>	<b>Subtotal B-2</b>		<b>\$145.00</b>	<b>Subtotal B-2</b>		<b>\$0.00</b>	<b>Subtotal B-2</b>		<b>\$198.20</b>

**B-3. Men's Work Pants**

Red Kap, PT10NV, Up to 36" Length, Navy Blue

Item#	Size	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total
																				Substitute Product Offered			Substitute Product Offered					
B-3-1	32"	\$21.23	5	\$106.15	\$16.99	5	\$84.95	\$17.94	5	\$89.70	\$17.01	5	\$85.05	\$17.35	5	\$86.75	No Bid	5	\$0.00	\$13.90	5	\$69.50	\$21.49	5	\$107.45	\$16.18	5	\$80.90
B-3-2	34"	\$21.23	15	\$318.45	\$16.99	15	\$254.85	\$17.94	15	\$269.10	\$17.01	15	\$255.15	\$17.35	15	\$260.25	No Bid	15	\$0.00	\$13.90	15	\$208.50	\$21.49	15	\$322.35	\$16.18	15	\$242.70
B-3-3	35"	\$21.23	5	\$106.15	\$16.99	5	\$84.95	\$17.94	5	\$89.70	\$17.01	5	\$85.05	\$17.35	5	\$86.75	No Bid	5	\$0.00	\$13.90	5	\$69.50	\$21.49	5	\$107.45	\$17.16	5	\$85.80
B-3-4	36"	\$21.23	10	\$212.30	\$16.99	10	\$169.90	\$17.94	10	\$179.40	\$17.01	10	\$170.10	\$17.35	10	\$173.50	No Bid	10	\$0.00	\$13.90	10	\$139.00	\$21.49	10	\$214.90	\$16.18	10	\$161.80
B-3-5	38"	\$21.23	15	\$318.45	\$16.99	15	\$254.85	\$17.94	15	\$269.10	\$17.01	15	\$255.15	\$17.35	15	\$260.25	No Bid	15	\$0.00	\$13.90	15	\$208.50	\$21.49	15	\$322.35	\$16.18	15	\$242.70
B-3-6	40"	\$21.23	5	\$106.15	\$16.99	5	\$84.95	\$17.94	5	\$89.70	\$17.01	5	\$85.05	\$17.35	5	\$86.75	No Bid	5	\$0.00	\$13.90	5	\$69.50	\$21.49	5	\$107.45	\$17.16	5	\$85.80
B-3-7	46"	\$24.98	5	\$124.90	\$20.99	5	\$104.95	\$21.35	5	\$106.75	\$20.23	5	\$101.15	\$19.95	5	\$99.75	No Bid	5	\$0.00	\$15.90	5	\$79.50	\$23.49	5	\$117.45	\$19.22	5	\$96.10
<b>Subtotal B-3</b>				<b>\$1,292.55</b>	<b>Subtotal B-3</b>		<b>\$1,039.40</b>	<b>Subtotal B-3</b>		<b>\$1,093.45</b>	<b>Subtotal B-3</b>		<b>\$1,036.70</b>	<b>Subtotal B-3</b>		<b>\$1,054.00</b>	<b>Subtotal B-3</b>		<b>\$0.00</b>	<b>Subtotal B-3</b>		<b>\$844.00</b>	<b>Subtotal B-3</b>		<b>\$1,299.40</b>	<b>Subtotal B-3</b>		<b>\$995.80</b>

**B-4. Men's Work Pants**

Red Kap, PT60NV, Up to 36" Length, Navy Blue

Item#	Size	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total			
B-4-1	32"	\$16.49	5	\$82.45	\$16.99	5	\$84.95	\$17.10	5	\$85.50	\$16.23	5	\$81.15	\$16.49	5	\$82.45	No Bid	5	\$0.00	\$15.25	5	\$76.25	\$21.49	5	\$107.45	\$15.43	5	\$77.15
B-4-2	34"	\$16.49	15	\$247.35	\$16.99	15	\$254.85	\$17.10	15	\$256.50	\$16.23	15	\$243.45	\$16.49	15	\$247.35	No Bid	15	\$0.00	\$15.25	15	\$228.75	\$21.49	15	\$322.35	\$15.43	15	\$231.45
B-4-3	36"	\$16.49	15	\$247.35	\$16.99	15	\$254.85	\$17.10	15	\$256.50	\$16.23	15	\$243.45	\$16.49	15	\$247.35	No Bid	15	\$0.00	\$15.25	15	\$228.75	\$21.49	15	\$322.35	\$15.43	15	\$231.45
B-4-4	38"	\$16.49	15	\$247.35	\$16.99	15	\$254.85	\$17.10	15	\$256.50	\$16.23	15	\$243.45	\$16.49	15	\$247.35	No Bid	15	\$0.00	\$15.25	15	\$228.75	\$21.49	15	\$322.35	\$15.43	15	\$231.45
B-4-5	40"	\$16.49	5	\$82.45	\$16.99	5	\$84.95	\$17.10	5	\$85.50	\$16.23	5	\$81.15	\$16.49	5	\$82.45	No Bid	5	\$0.00	\$15.25	5	\$76.25	\$21.49	5	\$107.45	\$15.43	5	\$77.15
B-4-6	46"	\$18.69	5	\$93.45	\$20.99	5	\$104.95	\$20.34	5	\$101.70	\$19.28	5	\$96.40	\$19.20	5	\$96.00	No Bid	5	\$0.00	\$18.35	5	\$91.75	\$23.49	5	\$117.45	\$18.33	5	\$91.65
<b>Subtotal B-4</b>				<b>\$1,000.40</b>	<b>Subtotal B-4</b>		<b>\$1,039.40</b>	<b>Subtotal B-4</b>		<b>\$1,042.20</b>	<b>Subtotal B-4</b>		<b>\$989.05</b>	<b>Subtotal B-4</b>		<b>\$1,002.95</b>	<b>Subtotal B-4</b>		<b>\$0.00</b>	<b>Subtotal B-4</b>		<b>\$930.50</b>	<b>Subtotal B-4</b>		<b>\$1,299.40</b>	<b>Subtotal B-4</b>		<b>\$940.30</b>

**B-5. Men's Work Pants**

Dickies, WP314, Dark Navy

Item#	Size	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total			
B-5-1	28, 30, 31, 32, 33, 34, 36, 38, 40, 42, 44, 46 Inseam: 30, 32, 34, 36	\$17.83	60	\$1,069.80	\$23.99	60	\$1,439.40	\$17.34	60	\$1,040.40	\$19.30	60	\$1,158.00	\$18.45	60	\$1,107.00	No Bid	60	\$0.00	\$19.95	60	\$1,197.00	No Bid	60	\$0.00	\$19.69	60	\$1,181.40
<b>Subtotal B-5</b>				<b>\$1,069.80</b>	<b>Subtotal B-5</b>		<b>\$1,439.40</b>	<b>Subtotal B-5</b>		<b>\$1,040.40</b>	<b>Subtotal B-5</b>		<b>\$1,158.00</b>	<b>Subtotal B-5</b>		<b>\$1,107.00</b>	<b>Subtotal B-5</b>		<b>\$0.00</b>	<b>Subtotal B-5</b>		<b>\$1,197.00</b>	<b>Subtotal B-5</b>		<b>\$0.00</b>	<b>Subtotal B-5</b>		<b>\$1,181.40</b>

2017-014	BIDDER AND LOCATION																							
	International Promotional Elk Grove, IL 60007	Cintas #393 Hughesville, MD 20637	Mastermans LLP Auburn, MA 01501	Feury Image Group Newark, NJ 07105	A&A Sales Associates LLC Quakertown, PA 18951	Printer's Ink LLC Springfield, MO 65802	Chesapeake Uniform Rental Baltimore, MD 21224	Henderson Advertising Springfield, IL 62703	Uniforms Manufacturing Inc. Scottsdale, AZ 85260															

**B. WORK PANTS (continued)**

**B-6. Men's Work Pants**

Red Kap, PT88NV, Navy

Item#	Size	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total			
B-6-1	32" - Inseam: 30	\$19.89	7	\$139.23	\$22.99	7	\$160.93	\$20.52	7	\$143.64	\$20.29	7	\$142.03	\$20.20	7	\$141.40	No Bid	7	\$0.00	\$17.60	7	\$123.20	\$24.99	7	\$174.93	\$18.31	7	\$128.17
B-6-2	32" - Inseam: 32	\$19.89	3	\$59.67	\$22.99	3	\$68.97	\$20.52	3	\$61.56	\$20.29	3	\$60.87	\$20.20	3	\$60.60	No Bid	3	\$0.00	\$17.60	3	\$52.80	\$24.99	3	\$74.97	\$18.31	3	\$54.93
B-6-3	34" - Inseam: 30	\$19.89	18	\$358.02	\$22.99	18	\$413.82	\$20.52	18	\$369.36	\$20.29	18	\$365.22	\$20.20	18	\$363.60	No Bid	18	\$0.00	\$17.60	18	\$316.80	\$24.99	18	\$449.82	\$18.31	18	\$329.58
B-6-4	34" - Inseam: 32	\$19.89	7	\$139.23	\$22.99	7	\$160.93	\$20.52	7	\$143.64	\$20.29	7	\$142.03	\$20.20	7	\$141.40	No Bid	7	\$0.00	\$17.60	7	\$123.20	\$24.99	7	\$174.93	\$18.31	7	\$128.17
B-6-5	36" - Inseam: 30	\$19.89	15	\$298.35	\$22.99	15	\$344.85	\$20.52	15	\$307.80	\$20.29	15	\$304.35	\$20.20	15	\$303.00	No Bid	15	\$0.00	\$17.60	15	\$264.00	\$24.99	15	\$374.85	\$18.31	15	\$274.65
B-6-6	36" - Inseam: 32	\$19.89	10	\$198.90	\$22.99	10	\$229.90	\$20.52	10	\$205.20	\$20.29	10	\$202.90	\$20.20	10	\$202.00	No Bid	10	\$0.00	\$17.60	10	\$176.00	\$24.99	10	\$249.90	\$18.31	10	\$183.10
B-6-7	38" - Inseam: 30	\$19.89	15	\$298.35	\$22.99	15	\$344.85	\$20.52	15	\$307.80	\$20.29	15	\$304.35	\$20.20	15	\$303.00	No Bid	15	\$0.00	\$17.60	15	\$264.00	\$24.99	15	\$374.85	\$18.31	15	\$274.65
B-6-8	38" - Inseam: 32	\$19.89	10	\$198.90	\$22.99	10	\$229.90	\$20.52	10	\$205.20	\$20.29	10	\$202.90	\$20.20	10	\$202.00	No Bid	10	\$0.00	\$17.60	10	\$176.00	\$24.99	10	\$249.90	\$18.31	10	\$183.10
B-6-9	40" - Inseam: 30	\$19.89	5	\$99.45	\$22.99	5	\$114.95	\$20.52	5	\$102.60	\$20.29	5	\$101.45	\$20.20	5	\$101.00	No Bid	5	\$0.00	\$17.60	5	\$88.00	\$24.99	5	\$124.95	\$18.31	5	\$91.55
B-6-10	40" - Inseam: 32	\$19.89	5	\$99.45	\$22.99	5	\$114.95	\$20.52	5	\$102.60	\$20.29	5	\$101.45	\$20.20	5	\$101.00	No Bid	5	\$0.00	\$17.60	5	\$88.00	\$24.99	5	\$124.95	\$18.31	5	\$91.55
B-6-11	46" - Inseam: 36L	\$22.29	5	\$111.45	\$28.99	5	\$144.95	\$20.52	5	\$102.60	\$24.15	5	\$120.75	\$23.20	5	\$116.00	No Bid	5	\$0.00	\$19.95	5	\$99.75	\$27.49	5	\$137.45	\$21.97	5	\$109.85
<b>Subtotal B-6</b>				<b>\$2,001.00</b>	<b>Subtotal B-6</b>		<b>\$2,329.00</b>	<b>Subtotal B-6</b>		<b>\$2,052.00</b>	<b>Subtotal B-6</b>		<b>\$2,048.30</b>	<b>Subtotal B-6</b>		<b>\$2,035.00</b>	<b>Subtotal B-6</b>		<b>\$0.00</b>	<b>Subtotal B-6</b>		<b>\$1,771.75</b>	<b>Subtotal B-6</b>		<b>\$2,511.50</b>	<b>Subtotal B-6</b>		<b>\$1,849.30</b>

**B-7. Women's Work Pants**

Red Kap PT89NV, Navy Blue

Item#	Size	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total			
B-7-1	04 - 34U	\$29.73	5	\$148.65	\$22.99	5	\$114.95	\$41.04	5	\$205.20	\$21.91	5	\$109.55	\$20.99	5	\$104.95	No Bid	5	\$0.00	\$17.50	5	\$87.50	No Bid	5	\$0.00	\$20.87	5	\$104.35
B-7-2	06 - 34U	\$29.73	5	\$148.65	\$22.99	5	\$114.95	\$41.04	5	\$205.20	\$21.91	5	\$109.55	\$20.99	5	\$104.95	No Bid	5	\$0.00	\$17.50	5	\$87.50	No Bid	5	\$0.00	\$20.87	5	\$104.35
B-7-3	10 - 34U	\$29.73	5	\$148.65	\$22.99	5	\$114.95	\$41.04	5	\$205.20	\$21.91	5	\$109.55	\$20.99	5	\$104.95	No Bid	5	\$0.00	\$17.50	5	\$87.50	No Bid	5	\$0.00	\$20.87	5	\$104.35
<b>Subtotal B-7</b>				<b>\$445.95</b>	<b>Subtotal B-7</b>		<b>\$344.85</b>	<b>Subtotal B-7</b>		<b>\$615.60</b>	<b>Subtotal B-7</b>		<b>\$328.65</b>	<b>Subtotal B-7</b>		<b>\$314.85</b>	<b>Subtotal B-7</b>		<b>\$0.00</b>	<b>Subtotal B-7</b>		<b>\$262.50</b>	<b>Subtotal B-7</b>		<b>\$0.00</b>	<b>Subtotal B-7</b>		<b>\$313.05</b>

**C. SWEATSHIRTS AND JACKETS**

**C-1. Men's Hooded Sweatshirt**

The Berne Apparel Corporation, SZ101NV, Long Sleeve, Navy Blue

Item#	Size	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total			
<i>Regular</i>																												
C-1-1	Medium	\$27.36	4	\$109.44	\$31.99	4	\$127.96	No Bid	4	No Bid	\$27.36	4	\$109.44	\$31.50	4	\$126.00	No Bid	4	\$0.00	\$29.90	4	\$119.60	\$32.30	4	\$129.20	\$29.82	4	\$119.28
C-1-2	Large	\$27.36	5	\$136.80	\$31.99	5	\$159.95	No Bid	5	No Bid	\$27.36	5	\$136.80	\$31.50	5	\$157.50	No Bid	5	\$0.00	\$29.90	5	\$149.50	\$32.30	5	\$161.50	\$29.82	5	\$149.10
C-1-3	1X-Large	\$27.36	12	\$328.32	\$31.99	12	\$383.88	No Bid	12	No Bid	\$27.36	12	\$328.32	\$31.50	12	\$378.00	No Bid	12	\$0.00	\$29.90	12	\$358.80	\$32.30	12	\$387.60	\$29.82	12	\$357.84
C-1-4	2X-Large	\$27.36	7	\$191.52	\$31.99	7	\$223.93	No Bid	7	No Bid	\$27.36	7	\$191.52	\$31.50	7	\$220.50	No Bid	7	\$0.00	\$31.90	7	\$223.30	\$32.30	7	\$226.10	\$29.82	7	\$208.74
C-1-5	3X-Large	\$29.44	2	\$58.88	\$39.99	2	\$79.98	No Bid	2	No Bid	\$30.09	2	\$60.18	\$33.50	2	\$67.00	No Bid	2	\$0.00	\$33.90	2	\$67.80	\$34.30	2	\$68.60	\$32.66	2	\$65.32
<i>Tall</i>																												
C-1-6	1X-Large	\$27.36	2	\$54.72	\$31.99	2	\$63.98	No Bid	2	No Bid	\$27.36	2	\$54.72	\$33.50	2	\$67.00	No Bid	2	\$0.00	\$29.90	2	\$59.80	\$32.30	2	\$64.60	\$20.30	2	\$40.60
C-1-7	2X-Large	\$27.36	2	\$54.72	\$31.99	2	\$63.98	No Bid	2	No Bid	\$30.09	2	\$60.18	\$33.50	2	\$67.00	No Bid	2	\$0.00	\$31.90	2	\$63.80	\$32.30	2	\$64.60	\$20.30	2	\$40.60
<b>Subtotal C-1</b>				<b>\$934.40</b>	<b>Subtotal C-1</b>		<b>\$1,103.66</b>	<b>Subtotal C-1</b>		<b>\$0.00</b>	<b>Subtotal C-1</b>		<b>\$941.16</b>	<b>Subtotal C-1</b>		<b>\$1,083.00</b>	<b>Subtotal C-1</b>		<b>\$0.00</b>	<b>Subtotal C-1</b>		<b>\$1,042.60</b>	<b>Subtotal C-1</b>		<b>\$1,102.20</b>	<b>Subtotal C-1</b>		<b>\$981.48</b>

**C-2. Men's Hooded Pullover**

The Berne Apparel Corporation, SP300, Long Sleeve, Navy Blue

Item#	Size	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total			
<i>Regular</i>																												
C-2-1	Medium	\$26.74	4	\$106.96	\$33.99	4	\$135.96	No Bid	4	No Bid	\$26.60	4	\$106.40	\$31.25	4	\$125.00	No Bid	4	\$0.00	\$32.50	4	\$130.00	No Bid	4	\$0.00	\$29.03	4	\$116.12
C-2-2	Large	\$26.74	5	\$133.70	\$33.99	5	\$169.95	No Bid	5	No Bid	\$26.60	5	\$133.00	\$31.25	5	\$156.25	No Bid	5	\$0.00	\$32.50	5	\$162.50	No Bid	5	\$0.00	\$29.03	5	\$145.15
C-2-3	1X-Large	\$26.74	12	\$320.88	\$33.99	12	\$407.88	No Bid	12	No Bid	\$26.60	12	\$319.20	\$31.25	12	\$375.00	No Bid	12	\$0.00	\$32.50	12	\$390.00	No Bid	12	\$0.00	\$29.03	12	\$348.36
C-2-4	2X-Large	\$26.74	7	\$187.18	\$33.99	7	\$237.93	No Bid	7	No Bid	\$26.60	7	\$186.20	\$31.25	7	\$218.75	No Bid	7	\$0.00	\$35.50	7	\$248.50	No Bid	7	\$0.00	\$29.03	7	\$203.21
C-2-5	3X-Large	\$28.81	2	\$57.62	\$38.99	2	\$77.98	No Bid	2	No Bid	\$29.27	2	\$58.54	\$33.25	2	\$66.50	No Bid	2	\$0.00	\$37.50	2	\$75.00	No Bid	2	\$0.00	\$31.79	2	\$63.58
<i>Tall</i>																												

2017-014	BIDDER AND LOCATION																										
	International Promotional Elk Grove, IL 60007	Cintas #393 Hughesville, MD 20637	Mastermans LLP Auburn, MA 01501	Feury Image Group Newark, NJ 07105	A&A Sales Associates LLC Quakertown, PA 18951	Printer's Ink LLC Springfield, MO 65802	Chesapeake Uniform Rental Baltimore, MD 21224	Henderson Advertising Springfield, IL 62703	Uniforms Manufacturing Inc. Scottsdale, AZ 85260																		

**C. SWEATSHIRTS AND JACKETS (continued)**

**C-3. Men's Jacket**

White Bear, WB-4040, Long Sleeve, Navy Blue

Item#	Size	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total			
<i>Regular</i>																												
C-3-1	Medium	\$38.88	2	\$77.76	No Bid	2	No Bid	No Bid	2	No Bid	\$40.00	2	\$80.00	\$41.50	2	\$83.00	No Bid	2	\$0.00	\$42.00	2	\$84.00	\$42.90	2	\$85.80	No Bid	2	\$0.00
C-3-2	Large	\$38.88	5	\$194.40	No Bid	5	No Bid	No Bid	5	No Bid	\$40.00	5	\$200.00	\$41.50	5	\$207.50	No Bid	5	\$0.00	\$42.00	5	\$210.00	\$42.90	5	\$214.50	No Bid	5	\$0.00
C-3-3	1X-Large	\$38.88	12	\$466.56	No Bid	12	No Bid	No Bid	12	No Bid	\$40.00	12	\$480.00	\$41.50	12	\$498.00	No Bid	12	\$0.00	\$42.00	12	\$504.00	\$42.90	12	\$514.80	No Bid	12	\$0.00
C-3-4	2X-Large	\$38.88	7	\$272.16	No Bid	7	No Bid	No Bid	7	No Bid	\$40.00	7	\$280.00	\$41.50	7	\$290.50	No Bid	7	\$0.00	\$44.00	7	\$308.00	\$42.90	7	\$300.30	No Bid	7	\$0.00
C-3-5	3X-Large	\$38.88	2	\$77.76	No Bid	2	No Bid	No Bid	2	No Bid	\$40.00	2	\$80.00	\$41.50	2	\$83.00	No Bid	2	\$0.00	\$46.00	2	\$92.00	\$42.90	2	\$85.80	No Bid	2	\$0.00
Subtotal C-3				\$1,088.64	Subtotal C-3		\$0.00	Subtotal C-3		\$0.00	Subtotal C-3		\$1,120.00	Subtotal C-3		\$1,162.00	Subtotal C-3		\$0.00	Subtotal C-3		\$1,198.00	Subtotal C-3		\$1,201.20	Subtotal C-3		\$0.00

**C-4. Men's Jacket**

Dickies, TJ100, Long Sleeve, Navy Blue

Item#	Size	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total			
<i>Regular</i>																												
C-4-1	Medium	\$31.95	2	\$63.90	\$40.99	2	\$81.98	\$32.58	2	\$65.16	\$33.33	2	\$66.66	\$35.60	2	\$71.20	No Bid	2	\$0.00	\$29.00	2	\$58.00	No Bid	2	\$0.00	\$36.40	2	\$72.80
C-4-2	Large	\$31.95	5	\$159.75	\$40.99	5	\$204.95	\$32.58	5	\$162.90	\$33.33	5	\$166.65	\$35.60	5	\$178.00	No Bid	5	\$0.00	\$29.00	5	\$145.00	No Bid	5	\$0.00	\$36.40	5	\$182.00
C-4-3	1X-Large	\$31.95	12	\$383.40	\$40.99	12	\$491.88	\$32.58	12	\$390.96	\$33.33	12	\$399.96	\$35.60	12	\$427.20	No Bid	12	\$0.00	\$29.00	12	\$348.00	No Bid	12	\$0.00	\$36.40	12	\$436.80
C-4-4	2X-Large	\$31.95	7	\$223.65	\$40.99	7	\$286.93	\$32.58	7	\$228.06	\$33.33	7	\$233.31	\$35.60	7	\$249.20	No Bid	7	\$0.00	\$32.00	7	\$224.00	No Bid	7	\$0.00	\$36.40	7	\$254.80
C-4-5	3X-Large	\$34.95	2	\$69.90	\$45.99	2	\$91.98	\$35.82	2	\$71.64	\$36.67	2	\$73.34	\$38.15	2	\$76.30	No Bid	2	\$0.00	\$32.00	2	\$64.00	No Bid	2	\$0.00	\$39.90	2	\$79.80
Subtotal C-4				\$900.60	Subtotal C-4		\$1,157.72	Subtotal C-4		\$918.72	Subtotal C-4		\$939.92	Subtotal C-4		\$1,001.90	Subtotal C-4		\$0.00	Subtotal C-4		\$839.00	Subtotal C-4		\$0.00	Subtotal C-4		\$1,026.20

**C-5. Men's Hooded Jacket**

Carhartt, J131, Long Sleeve, Dark Navy

Item#	Size	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total			
<i>Regular</i>																												
C-5-1	Medium	\$61.77	2	\$123.54	\$70.99	2	\$141.98	\$51.00	2	\$102.00	\$76.67	2	\$153.34	\$72.45	2	\$144.90	No Bid	2	\$0.00	\$61.00	2	\$122.00	No Bid	2	\$0.00	\$60.90	2	\$121.80
C-5-2	Large	\$61.77	5	\$308.85	\$70.99	5	\$354.95	\$51.00	5	\$255.00	\$76.67	5	\$383.35	\$72.45	5	\$362.25	No Bid	5	\$0.00	\$61.00	5	\$305.00	No Bid	5	\$0.00	\$60.90	5	\$304.50
C-5-3	1X-Large	\$61.77	12	\$741.24	\$70.99	12	\$851.88	\$51.00	12	\$612.00	\$76.67	12	\$920.04	\$72.45	12	\$869.40	No Bid	12	\$0.00	\$61.00	12	\$732.00	No Bid	12	\$0.00	\$60.90	12	\$730.80
C-5-4	2X-Large	\$61.77	7	\$432.39	\$70.99	7	\$496.93	\$51.00	7	\$357.00	\$76.67	7	\$536.69	\$72.45	7	\$507.15	No Bid	7	\$0.00	\$61.00	7	\$427.00	No Bid	7	\$0.00	\$60.90	7	\$426.30
C-5-5	3X-Large	\$68.37	2	\$136.74	\$78.99	2	\$157.98	\$57.00	2	\$114.00	\$86.67	2	\$173.34	\$77.95	2	\$155.90	No Bid	2	\$0.00	\$68.00	2	\$136.00	No Bid	2	\$0.00	\$67.90	2	\$135.80
<i>Tall</i>																												
C-5-6	2X-Large	\$68.37	2	\$136.74	\$78.99	2	\$157.98	\$57.00	2	\$114.00	\$86.67	2	\$173.34	\$77.95	2	\$155.90	No Bid	2	\$0.00	\$63.00	2	\$126.00	No Bid	2	\$0.00	\$67.90	2	\$135.80
Subtotal C-5				\$1,879.50	Subtotal C-5		\$2,161.70	Subtotal C-5		\$1,554.00	Subtotal C-5		\$2,340.10	Subtotal C-5		\$2,195.50	Subtotal C-5		\$0.00	Subtotal C-5		\$1,848.00	Subtotal C-5		\$0.00	Subtotal C-5		\$1,855.00

**C-6. Men's Hooded Sweatshirt**

Forester, 028020, Long Sleeve, Safety Green

Item#	Size	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total			
C-6-1	Small - 4X-Large	\$39.13	25	\$978.25	No Bid	25	No Bid	No Bid	25	No Bid	\$32.28	25	\$807.00	\$20.75	25	\$518.75	No Bid	25	\$0.00	\$38.00	25	\$950.00	\$38.49	25	\$962.25	No Bid	25	\$0.00
Subtotal C-6				\$978.25	Subtotal C-6		\$0.00	Subtotal C-6		\$0.00	Subtotal C-6		\$807.00	Subtotal C-6		\$518.75	Subtotal C-6		\$0.00	Subtotal C-6		\$950.00	Subtotal C-6		\$962.25	Subtotal C-6		\$0.00

2017-014	BIDDER AND LOCATION																											
	International Promotional Elk Grove, IL 60007	Cintas #393 Hughesville, MD 20637	Mastermans LLP Auburn, MA 01501	Feury Image Group Newark, NJ 07105	A&A Sales Associates LLC Quakertown, PA 18951	Printer's Ink LLC Springfield, MO 65802	Chesapeake Uniform Rental Baltimore, MD 21224	Henderson Advertising Springfield, IL 62703	Uniforms Manufacturing Inc. Scottsdale, AZ 85260																			

**D. COVERALLS AND OVERALLS**

**D-1. Coveralls**

Red Kap, CT10NV, Long Sleeve, Navy

Item#	Size	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total
Short Length (5'3" - 5'7")																												
D-1-1	Medium	\$32.84	1	\$32.84	\$54.00	1	\$54.00	\$51.00	1	\$51.00	\$22.95	1	\$22.95	\$25.95	1	\$25.95	No Bid	1	\$0.00	\$31.00	1	\$31.00	No Bid	1	\$0.00	\$38.30	1	\$38.30
D-1-2	Large	\$32.84	1	\$32.84	\$54.49	1	\$54.49	\$51.00	1	\$51.00	\$22.95	1	\$22.95	\$25.95	1	\$25.95	No Bid	1	\$0.00	\$31.00	1	\$31.00	No Bid	1	\$0.00	\$38.30	1	\$38.30
D-1-3	1X-Large	\$32.84	1	\$32.84	\$54.49	1	\$54.49	\$51.00	1	\$51.00	\$22.95	1	\$22.95	\$25.95	1	\$25.95	No Bid	1	\$0.00	\$31.00	1	\$31.00	No Bid	1	\$0.00	\$38.30	1	\$38.30
Regular Length (5'7" - 5' - 11")																												
D-1-4	Medium	\$33.44	1	\$33.44	\$30.49	1	\$30.49	\$25.50	1	\$25.50	\$22.95	1	\$22.95	\$25.95	1	\$25.95	No Bid	1	\$0.00	\$21.50	1	\$21.50	No Bid	1	\$0.00	\$21.84	1	\$21.84
D-1-5	Large	\$33.44	5	\$167.20	\$30.49	5	\$152.45	\$25.50	5	\$127.50	\$22.95	5	\$114.75	\$25.95	5	\$129.75	No Bid	5	\$0.00	\$21.50	5	\$107.50	No Bid	5	\$0.00	\$21.84	5	\$109.20
D-1-6	1X-Large	\$33.44	12	\$401.28	\$30.49	12	\$365.88	\$25.50	12	\$306.00	\$22.95	12	\$275.40	\$25.95	12	\$311.40	No Bid	12	\$0.00	\$21.50	12	\$258.00	No Bid	12	\$0.00	\$21.84	12	\$262.08
D-1-7	2X-Large	\$37.38	5	\$186.90	\$30.49	5	\$152.45	\$30.60	5	\$153.00	\$22.95	5	\$114.75	\$25.95	5	\$129.75	No Bid	5	\$0.00	\$24.50	5	\$122.50	No Bid	5	\$0.00	\$26.20	5	\$131.00
D-1-8	3X-Large	\$38.48	2	\$76.96	\$35.49	2	\$70.98	\$30.60	2	\$61.20	\$22.95	2	\$45.90	\$31.25	2	\$62.50	No Bid	2	\$0.00	\$24.50	2	\$49.00	No Bid	2	\$0.00	\$26.20	2	\$52.40
Long Length (5'11" - 6'3")																												
D-1-9	1X-Large	\$44.26	2	\$88.52	\$0.00	2	\$30.49	\$25.50	2	\$51.00	\$22.95	2	\$45.90	\$31.25	2	\$62.50	No Bid	2	\$0.00	\$27.50	2	\$55.00	No Bid	2	\$0.00	\$21.84	2	\$43.68
D-1-10	2X-Large	\$45.76	2	\$91.52	\$0.00	2	\$36.49	\$30.60	2	\$61.20	\$22.95	2	\$45.90	\$31.25	2	\$62.50	No Bid	2	\$0.00	\$27.50	2	\$55.00	No Bid	2	\$0.00	\$26.20	2	\$52.40
Subtotal D-1				\$1,144.34	Subtotal D-1		\$1,002.21	Subtotal D-1		\$938.40	Subtotal D-1		\$734.40	Subtotal D-1		\$862.20	Subtotal D-1		\$0.00	Subtotal D-1		\$761.50	Subtotal D-1		\$0.00	Subtotal D-1		\$787.50

**D-2. Men's Bib Overalls**

Carhartt, R41-DNY, Straps, Dark Navy (Available Inseams of 30, 32, and 34)

Item#	Size	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total
D-2-1	32	\$85.92	1	\$85.92	\$98.99	1	\$98.99	\$71.40	1	\$71.40	\$79.33	1	\$79.33	\$81.40	1	\$81.40	No Bid	1	\$0.00	\$88.10	1	\$88.10	No Bid	1	\$0.00	\$77.35	1	\$77.35
D-2-2	34	\$85.92	5	\$429.60	\$98.99	5	\$494.95	\$71.40	5	\$357.00	\$79.33	5	\$396.65	\$81.40	5	\$407.00	No Bid	5	\$0.00	\$88.10	5	\$440.50	No Bid	5	\$0.00	\$77.35	5	\$386.75
D-2-3	36	\$85.92	5	\$429.60	\$98.99	5	\$494.95	\$71.40	5	\$357.00	\$79.33	5	\$396.65	\$81.40	5	\$407.00	No Bid	5	\$0.00	\$88.10	5	\$440.50	No Bid	5	\$0.00	\$77.35	5	\$386.75
D-2-4	38	\$85.92	8	\$687.36	\$98.99	8	\$791.92	\$71.40	8	\$571.20	\$79.33	8	\$634.64	\$81.40	8	\$651.20	No Bid	8	\$0.00	\$88.10	8	\$704.80	No Bid	8	\$0.00	\$77.35	8	\$618.80
D-2-5	40	\$85.92	2	\$171.84	\$98.99	2	\$197.98	\$71.40	2	\$142.80	\$79.33	2	\$158.66	\$81.40	2	\$162.80	No Bid	2	\$0.00	\$88.10	2	\$176.20	No Bid	2	\$0.00	\$77.35	2	\$154.70
D-2-6	42	\$85.92	2	\$171.84	\$98.99	2	\$197.98	\$71.40	2	\$142.80	\$79.33	2	\$158.66	\$81.40	2	\$162.80	No Bid	2	\$0.00	\$88.10	2	\$176.20	No Bid	2	\$0.00	\$77.35	2	\$154.70
D-2-7	44	\$85.92	2	\$171.84	\$105.99	2	\$211.98	\$71.40	2	\$142.80	\$79.33	2	\$158.66	\$81.40	2	\$162.80	No Bid	2	\$0.00	\$88.10	2	\$176.20	No Bid	2	\$0.00	\$77.35	2	\$154.70
D-2-8	46	\$85.92	2	\$171.84	\$105.99	2	\$211.98	\$71.40	2	\$142.80	\$79.33	2	\$158.66	\$81.40	2	\$162.80	No Bid	2	\$0.00	\$88.10	2	\$176.20	No Bid	2	\$0.00	\$77.35	2	\$154.70
Subtotal D-2				\$2,319.84	Subtotal D-2		\$2,700.73	Subtotal D-2		\$1,927.80	Subtotal D-2		\$2,141.91	Subtotal D-2		\$2,197.80	Subtotal D-2		\$0.00	Subtotal D-2		\$2,378.70	Subtotal D-2		\$0.00	Subtotal D-2		\$2,088.40

**D-3. Coveralls**

Red Kap, CC18NV, Long Sleeve, Navy

Item#	Size	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total												
Short Length (5'3" - 5'7")																												
D-3-1	Medium	\$41.83	1	\$41.83	\$70.49	1	\$70.49	\$62.64	1	\$62.64	\$34.80	1	\$34.80	\$30.75	1	\$30.75	No Bid	1	\$0.00	\$44.00	1	\$44.00	No Bid	1	\$0.00	\$53.27	1	\$53.27
D-3-2	Large	\$41.83	1	\$41.83	\$70.49	1	\$70.49	\$62.64	1	\$62.64	\$34.80	1	\$34.80	\$30.75	1	\$30.75	No Bid	1	\$0.00	\$44.00	1	\$44.00	No Bid	1	\$0.00	\$53.27	1	\$53.27
D-3-3	1X-Large	\$41.83	1	\$41.83	\$70.49	1	\$70.49	\$62.64	1	\$62.64	\$34.80	1	\$34.80	\$30.75	1	\$30.75	No Bid	1	\$0.00	\$44.00	1	\$44.00	No Bid	1	\$0.00	\$53.27	1	\$53.27
Regular Length (5'7" - 5' - 11")																												
D-3-4	Medium	\$42.64	1	\$42.64	\$40.49	1	\$40.49	\$31.32	1	\$31.32	\$34.80	1	\$34.80	\$30.75	1	\$30.75	No Bid	1	\$0.00	\$28.50	1	\$28.50	No Bid	1	\$0.00	\$30.36	1	\$30.36
D-3-5	Large	\$42.64	5	\$213.20	\$40.49	5	\$202.45	\$31.32	5	\$156.60	\$34.80	5	\$174.00	\$30.75	5	\$153.75	No Bid	5	\$0.00	\$28.50	5	\$142.50	No Bid	5	\$0.00	\$30.36	5	\$151.80
D-3-6	1X-Large	\$42.64	12	\$511.68	\$40.49	12	\$485.88	\$31.32	12	\$375.84	\$34.80	12	\$417.60	\$30.75	12	\$369.00	No Bid	12	\$0.00	\$28.50	12	\$342.00	No Bid	12	\$0.00	\$30.36	12	\$364.32
D-3-7	2X-Large	\$46.78	5	\$233.90	\$46.49	5	\$232.45	\$37.59	5	\$187.95	\$34.80	5	\$174.00	\$30.75	5	\$153.75	No Bid	5	\$0.00	\$32.00	5	\$160.00	No Bid	5	\$0.00	\$36.45	5	\$182.25
D-3-8	3X-Large	\$49.95	2	\$99.90	\$46.49	2	\$92.98	\$37.59	2	\$75.18	\$34.80	2	\$69.60	\$34.75	2	\$69.50	No Bid	2	\$0.00	\$32.00	2	\$64.00	No Bid	2	\$0.00	\$36.45	2	\$72.90

2017-014	BIDDER AND LOCATION																										
	International Promotional Elk Grove, IL 60007	Cintas #393 Hughesville, MD 20637	Mastermans LLP Auburn, MA 01501	Feury Image Group Newark, NJ 07105	A&A Sales Associates LLC Quakertown, PA 18951	Printer's Ink LLC Springfield, MO 65802	Chesapeake Uniform Rental Baltimore, MD 21224	Henderson Advertising Springfield, IL 62703	Uniforms Manufacturing Inc. Scottsdale, AZ 85260																		

**E. RAIN GEAR**

**E-1. Rain Parka**  
Grundens, PHD44HV, Long Sleeve, Yellow

Item#	Size	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total															
E-1-1	Medium	No Bid	2	No Bid	No Bid	2	No Bid	No Bid	2	No Bid	No Bid	2	No Bid	No Bid	2	No Bid	No Bid	2	No Bid	\$99.75	2	\$199.50	No Bid	2	No Bid	No Bid	2	No Bid												
E-1-2	Large	No Bid	5	No Bid	No Bid	5	No Bid	No Bid	5	No Bid	No Bid	5	No Bid	No Bid	5	No Bid	No Bid	5	No Bid	\$99.75	5	\$498.75	No Bid	5	No Bid	No Bid	5	No Bid												
E-1-3	1X-Large	No Bid	12	No Bid	No Bid	12	No Bid	No Bid	12	No Bid	No Bid	12	No Bid	No Bid	12	No Bid	No Bid	12	No Bid	\$99.75	12	\$1,197.00	No Bid	12	No Bid	No Bid	12	No Bid												
E-1-4	2X-Large	No Bid	7	No Bid	No Bid	7	No Bid	No Bid	7	No Bid	No Bid	7	No Bid	No Bid	7	No Bid	No Bid	7	No Bid	\$99.75	7	\$698.25	No Bid	7	No Bid	No Bid	7	No Bid												
E-1-5	3X-Large	No Bid	2	No Bid	No Bid	2	No Bid	No Bid	2	No Bid	No Bid	2	No Bid	No Bid	2	No Bid	No Bid	2	No Bid	\$118.50	2	\$237.00	No Bid	2	No Bid	No Bid	2	No Bid												
<b>Subtotal E-1</b>		<b>\$0.00</b>			<b>Subtotal E-1</b>			<b>\$0.00</b>			<b>Subtotal E-1</b>			<b>\$0.00</b>			<b>Subtotal E-1</b>			<b>\$0.00</b>			<b>Subtotal E-1</b>			<b>\$2,830.50</b>			<b>Subtotal E-1</b>			<b>\$0.00</b>			<b>Subtotal E-1</b>			<b>\$0.00</b>		

**E-2. Rain Bib Pant**  
Grundens, PHD16HV, Yellow

Item#	Size	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total															
E-2-1	X-Small	No Bid	1	No Bid	No Bid	1	No Bid	No Bid	1	No Bid	No Bid	1	No Bid	No Bid	1	No Bid	No Bid	1	No Bid	\$88.20	1	\$88.20	No Bid	1	No Bid	No Bid	1	No Bid												
E-2-2	Medium	No Bid	1	No Bid	No Bid	1	No Bid	No Bid	1	No Bid	No Bid	1	No Bid	No Bid	1	No Bid	No Bid	1	No Bid	\$88.20	1	\$88.20	No Bid	1	No Bid	No Bid	1	No Bid												
E-2-3	Large	No Bid	5	No Bid	No Bid	5	No Bid	No Bid	5	No Bid	No Bid	5	No Bid	No Bid	5	No Bid	No Bid	5	No Bid	\$88.20	5	\$441.00	No Bid	5	No Bid	No Bid	5	No Bid												
E-2-4	1x-Large	No Bid	12	No Bid	No Bid	12	No Bid	No Bid	12	No Bid	No Bid	12	No Bid	No Bid	12	No Bid	No Bid	12	No Bid	\$88.20	12	\$1,058.40	No Bid	12	No Bid	No Bid	12	No Bid												
E-2-5	2X-Large	No Bid	7	No Bid	No Bid	7	No Bid	No Bid	7	No Bid	No Bid	7	No Bid	No Bid	7	No Bid	No Bid	7	No Bid	\$88.20	7	\$617.40	No Bid	7	No Bid	No Bid	7	No Bid												
E-2-6	3X-Large	No Bid	2	No Bid	No Bid	2	No Bid	No Bid	2	No Bid	No Bid	2	No Bid	No Bid	2	No Bid	No Bid	2	No Bid	\$103.50	2	\$207.00	No Bid	2	No Bid	No Bid	2	No Bid												
<b>Subtotal E-2</b>		<b>\$0.00</b>			<b>Subtotal E-2</b>			<b>\$0.00</b>			<b>Subtotal E-2</b>			<b>\$0.00</b>			<b>Subtotal E-2</b>			<b>\$0.00</b>			<b>Subtotal E-2</b>			<b>\$2,500.20</b>			<b>Subtotal E-2</b>			<b>\$0.00</b>			<b>Subtotal E-2</b>			<b>\$0.00</b>		

**E-3. Slush Boots**  
Cordova, BYS17

Item#	Size	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Substitute Product Offered		Substitute Product Offered		Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total																										
											Unit Price	Est Qty.	Total	Unit Price													Est Qty.	Total																								
E-3-1	6	No Bid	1	No Bid	\$18.99	1	\$18.99	No Bid	1	No Bid	\$38.40	1	\$38.40	\$21.50	1	\$21.50	No Bid	1	No Bid	\$22.95	1	\$22.95	No Bid	1	No Bid	No Bid	1	No Bid																								
E-3-2	7	No Bid	1	No Bid	\$18.99	1	\$18.99	No Bid	1	No Bid	\$38.40	1	\$38.40	\$21.50	1	\$21.50	No Bid	1	No Bid	\$22.95	1	\$22.95	No Bid	1	No Bid	No Bid	1	No Bid																								
E-3-3	9	No Bid	3	No Bid	\$18.99	3	\$56.97	No Bid	3	No Bid	\$38.40	3	\$115.20	\$21.50	3	\$64.50	No Bid	3	No Bid	\$22.95	3	\$68.85	No Bid	3	No Bid	No Bid	3	No Bid																								
E-3-4	10	No Bid	7	No Bid	\$18.99	7	\$132.93	No Bid	7	No Bid	\$38.40	7	\$268.80	\$21.50	7	\$150.50	No Bid	7	No Bid	\$22.95	7	\$160.65	No Bid	7	No Bid	No Bid	7	No Bid																								
E-3-5	11	No Bid	6	No Bid	\$18.99	6	\$113.94	No Bid	6	No Bid	\$38.40	6	\$230.40	\$21.50	6	\$129.00	No Bid	6	No Bid	\$22.95	6	\$137.70	No Bid	6	No Bid	No Bid	6	No Bid																								
E-3-6	12	No Bid	4	No Bid	\$18.99	4	\$75.96	No Bid	4	No Bid	\$38.40	4	\$153.60	\$21.50	4	\$86.00	No Bid	4	No Bid	\$22.95	4	\$91.80	No Bid	4	No Bid	No Bid	4	No Bid																								
E-3-7	13	No Bid	4	No Bid	\$18.99	4	\$75.96	No Bid	4	No Bid	\$38.40	4	\$153.60	\$21.50	4	\$86.00	No Bid	4	No Bid	\$22.95	4	\$91.80	No Bid	4	No Bid	No Bid	4	No Bid																								
<b>Subtotal E-2</b>		<b>\$0.00</b>			<b>Subtotal E-3</b>			<b>\$493.74</b>			<b>Subtotal E-3</b>			<b>\$0.00</b>			<b>Subtotal E-3</b>			<b>\$998.40</b>			<b>Subtotal E-3</b>			<b>\$559.00</b>			<b>Subtotal E-3</b>			<b>\$0.00</b>			<b>Subtotal E-3</b>			<b>\$596.70</b>			<b>Subtotal E-3</b>			<b>\$0.00</b>			<b>Subtotal E-3</b>			<b>\$0.00</b>		

**F. HATS**

**F-1. Summer Hats**  
WearGuard, WEB936NV, Navy Blue

Item#	Size	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total																											
F-1-1	One Size Fits All	Substitute Product Offered			Substitute Product Offered			No Bid	No Bid	No Bid	Substitute Product Offered			Substitute Product Offered			No Bid	No Bid	No Bid	Substitute Product Offered			Substitute Product Offered			No Bid	No Bid	No Bid																								
		\$2.86	26	\$74.36	\$8.25	26	\$214.50	\$1.96	26	\$50.96	\$6.50	26	\$169.00	\$5.00	26	\$130.00	\$2.99	26	\$77.74																																	
<b>Subtotal E-2</b>		<b>\$74.36</b>			<b>Subtotal F-1</b>			<b>\$214.50</b>			<b>Subtotal F-1</b>			<b>\$0.00</b>			<b>Subtotal F-1</b>			<b>\$50.96</b>			<b>Subtotal F-1</b>			<b>\$169.00</b>			<b>Subtotal F-1</b>			<b>\$0.00</b>			<b>Subtotal F-1</b>			<b>\$130.00</b>			<b>Subtotal F-1</b>			<b>\$77.74</b>			<b>Subtotal F-1</b>			<b>\$0.00</b>		

**F-2. Winter Hats**  
WearGuard, WEB-1697, Navy

Item#	Size	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total	Unit Price	Est Qty.	Total			
F-2-1	One Size Fits All	Substitute Product Offered			Substitute Product Offered			No Bid	No Bid	No Bid	Substitute Product Offered			Substitute Product Offered			No Bid	No Bid	No Bid	Substitute Product Offered			Substitute Product Offered			No Bid	No Bid	No Bid
		\$3.19	26	\$82.94	\$8.25	26	\$214.50	\$2.39	26	\$62.14	\$5.95	26	\$154.70	\$4.75	26	\$123.50	\$2.99	26	\$77.74									

2017-014	BIDDER AND LOCATION																	
	International Promotional Elk Grove, IL 60007		Cintas #393 Hughesville, MD 20637		Mastermans LLP Auburn, MA 01501		Feury Image Group Newark, NJ 07105		A&A Sales Associates LLC Quakertown, PA 18951		Printer's Ink LLC Springfield, MO 65802		Chesapeake Uniform Rental Baltimore, MD 21224		Henderson Advertising Springfield, IL 62703		Uniforms Manufacturing Inc. Scottsdale, AZ 85260	
TOTAL BID (BASED ON ESTIMATED ANNUAL QUANTITIES)	TOTAL BID	\$26,286.82	TOTAL BID	\$32,681.00	TOTAL BID	\$16,815.95	TOTAL BID	\$27,343.82	TOTAL BID	\$27,038.45	TOTAL BID	\$7,667.20	TOTAL BID	\$31,714.20	TOTAL BID	\$17,976.58	TOTAL BID	\$24,243.88
	<b>G. ONE TIME SET-UP FOR EMBROIDERY</b>																	
	\$35.00	\$0.00	\$20.00	\$125.00	No Charge	\$0.00	No Charge	\$50.00	\$40.00									
<b>H. DIRECT EMBROIDERY (Unit Cost per Item)</b>																		
All Items Requiring Embroidery Except for Hats	\$5.75	\$7.50	\$6.42	\$3.95	\$4.80	\$4.80	\$5.95	\$4.25	\$1.00									
Hats Only	\$4.00	\$4.50	\$2.70	\$3.10	\$2.45	No Bid	\$3.95	\$4.25	No Bid									